Raccoglimenti
Periodo 2 - UdA 7

Svolgere 1 raccoglimenti ove possibile

1 3a2° — 220 — 223 2| 203 — dx — 6
B 1227 — 62 + 92 4 30 — b — 27
5] 2 — 62 + 227 6 322 — 6z + 327
u 4+ 23 + 327 S| 42° — 4o — 223
9 x4 % 4 217 10, —x+1— 227
11| —62% 4+ 152 — 6 12 —3z* — 3% 4 2°
13 6z — 623 + Sz 14] 323 — 3+ 15x
15) r? — bat + 16 202 + 223 — 4w
17 32”4 122° + 1527 18 —20* + 2z —
19| 3¢ + 327 + 92 20 —62° 4 3x° — 3z
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SOLUZIONI

Raccoglimenti
—a3 (223 — 322 + 2)
3T (4:132 — 2x + 3)
2 (2% — 31+ 1)
x5+ 3% + 4
T (2:132 + x + 1)
—3 (22° — 5z +2)
20 (—3:132 +4x + 3)
7 (5133 — 5x? + 1)
302 (mg + ox + 4)
3z (2 + 3z + 1)

Periodo 2 -
2
4
6)
8]
10
12|
14]
16
18]
20]

UdA 7
2 (x3 — 2T — 3)
a3 (:1:3 — 3x% + 1)
3T (CIJ2 + x — 2)
—22° (229 + x — 2)
— (2:1:3 + x — 1)
7 (:1:3 — 3z — 3)
—3 (xg — O + 1)
20 (:132 + T — 2)
—Z (2x3 + 22— 2)
— 37 (2%3 + a2 — 1)



